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Gaussianintegrelsdfeyumaiistricktnaprevio.usvideo we used that
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and argued that we can use this result to calculate

•

In = f x2" e-
→
dx

,

-✗

Indeed
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we saw that

¥1M = !! ⇒ le
- ""
I dx = [c-⇒ e-

""
ok

⇒ -2*11×11=4
✗= 1

= OF
2-

• We could take higher derivatives of I. (4) = fÉ to generate
all the In we want :

In = -1151%71*11
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•Maija : how do we calculate I. G) ?
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Therefore ,

I!;é%t=r
-

and so |IdH=F)
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T-eyuuaistrickinathercases.TW#ip6:

1- We must be able to insert a parameter
in a clever spot to generatethe
integrals we want .

2- The "base case" (I. (x) above) must be
an integral we can solve analytically
for all values of X .



Ed: Jin = [ (lux)" x2 dx
→ we could solve it by
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which we can do with usual methods .

→ But in this case Feynman provides a very elegant
path
Take ✗
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so we may define
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Then
,

¥]. G) = [ tux) ✗ " dx = -1×1+1-2
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and so on with u derivatives for In .

FIE : Generalize the above to
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